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 Exercise 1 Let A,B € R™, write ”Yes” if the statement is correct, "No” if 4t is not correct.
Q). ”A'I'B” = | A[l+11B]| - NO COUW\{@L €<>\J<‘xwr\[)é : fq = 4‘41 a) ‘ B= (o A )

en  BALE N8I 4 bl g B WOl = J2 .,
e : A<qi0), 8 (40
SUobat e e =0l - 4,
No / cownlonera m«(\()c v () : {1,0) s E= (C’/’f) .

Exercise 2 Let P,P',N,N' € R™ with N # 0, N’ # 0 and P # P. Circle the letter(s) which
correspond(s) to a correct statement : The hyperplanes H pN and Hp yi are parallel if

i) | A+ B2 < ||A|? + || B|? : No counden e vaum !

ew AN URN
m)A B=0 implies A=0o0orB=0:

. =
() PeHpy, (B)N=N, (JN-N'=0, (d)ON is parallel to ON,
Exercise 3 Answer by ”Yes” or "No” : Does the point X = (1,0, —1) belong to the plane defined by
the point P = (0,0,0) and the direction N = (1,1,1): Yeu , Alhce K-N=0 ¢ ,}({,,
PN =0, |

Exercise 4 Circle the letter which 'correspond to-a correct statement : Do 4 distinct points in R® define

a plane ?
: (a) always, @ sometimes, - (¢) never.

Exercise 5 Let A, B, P,Q € R™. Circle the letter(s) which correspond(s) to a correct statement : The
located vectors ﬁ and 135 are equivalent if

(a) they have the same length

(b) they are parallel and have the same directz’on
) B-4-@-P)=0

() (B—A)-(Q-P)=0



